i
T

I

1. ¥4
4 AR T RS Th) 1 O R S 2
BT AT EB IR EH )1 ST B2 E AT

2. EHEAR

1) FHEI4

2) JEATHIM

Tl I BT PGS R

365 H H &% 74 45 1H
E 4HFn 8% 3H31H

3) PN

4) EBNE

=R oS KN o723 S



*ﬁ
AN

HN

Tl
>

=
=

WA | BT AT ) R s LR B W 3
H H R ST
HA - T/ - FE5 B B & 4 %A OB N AR
IR AL X 1 8, 566, 144
i A oy 1 6, 339, 384
by R = 1 6,339, 384 | 2 EIEN
1 ES
TEEtE
1 =
B H A
(1 )1 (ED=
AR B )
B6 )1 (EDX
SRR HIE : 79. 20m
1R 7K i B ]
1 =
ARSREIEY (CEH) © BRERI*1HIK
BLAARR S 10JR#1 HIZK
T K e L
1 =K
AR ((FH) ¢ BIRpf*1HIK
BLAARR S 10JR*1 HIZK
1 =K
TIE IR & BRI CFHh)
3
S5 B < 332. 18m
TIE IR & BRI CFHh)
3 EN
S22 ) b < 286. 45m
A7) AR
3 TR

MK i 84, 47m

=R oS KN o723 S



== /o5 =
o N R
BB | DT AR T ) b i A B W 3
H H AR S
THH - TR - R H AL % 4 %A O ER
To) 1R A
3 MR
SR HIE $93. 13m
S EER
1 e
IRAL I B R AR A E AR X 960, 020
IAE e 2 R AR AE X 960, 020 | ZHm i
1 ES
R OUE - R
2 BT
IR B AR O 1B
2 BT
MEEtE RO VERk
2 BT
BT R & X 0 1ERL
2 BT
H-/7Q « H-A « H-V - B K O 1AL
2 BT
WA EER
1 E30
£k = 1, 266, 740
Bk X 1,266,740 | THIEEK (4,6,7,9,10,12,1,3H)
1 =X
JINTT AR T HERK
EWIERAK (5,11,2H)
1 =X
B B
AN T R+ 1IE H
EWEEA (8R)
1 =

=R oS KN o723 S



= N 2R
FE A PYRR S
EW4 | BT AR T M) R BB SR ER BB
H H RSB
TEHA - LfE - R =AY VA # & A Mo N AR
BRI EEK
/NTHAR B 2T B
[ERETES = = 211, 129
RS T¢ = 211, 129
i AL oy 92,129 | fr#rrsimdy
1 =X
&= Gk
1 =X
T A I
1 =X
T AR I
1 =X
T A IE
1 =X
kB A
1 =
kB A
1 =
ATy 2 119,000 | &-FRR A IER T
1 =
e ey X 32, 400
Hof i ey =X 32, 400
T HERFE BRI S 2 D OB S = 32,400 | TIJIHERFE BREAINE S OB E
1 =
[EXERIIFSE =X 8, 809, 673
e F g = 5,910, 327

=R oS KN o723 S



%lljll
I

FEH N

EW4 | BT AR T M) R BB SR ER BB
H H M EE
TEHA - LfE - R =AY VA ¥ B & #H OB R
At = 1 5,910, 327
W M A 2V 1 14, 720, 000

=R oS KN o723 S



